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OX=ABAUNZH NLEFRE 3 & W=
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203 YR =&l 16,000 16,000 0
03 A Z=XH R =AY 16,000 16,000 0
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A2l ot ?3s 299 20,000 20,000 0
201 Let249] 12,000 12,000 0
01 At 22l 12,000 12,000 0
OMIIEAN & AR FHg 12,000
301 LEAS 8,000 8,000 0
09 HALAHIX &S 8,000 8,000 0
OA=EZIHM, SRIEM FHNLE 4HEY 8,000
SS3M 243t & 15,000 15,000 0
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SN AS S HXIE
M AU RS
S A 245

SA - BB B () - MM - BES Ol &t o San HmEET
e 250,000
401 A& HIZ 201 I 250,000 250,000
s 250,000
01 A& HI 250,000 250,000
OFFAl At HTH
) 250,000
as 250,000
AL ARSI A &F 40+ 300,000 300,000
s 300,000
401 Al HI R 201 I 300,000 300,000
s 300,000
01 A& HI 300,000 300,000
O&=Al At3I A H (4 al
) 300,000
s 300,000
AL AFSIHTH &40 (M HZH REXE 450,000 450,000
HE)
< 450,000
401 AIEHI L 2 CHYI 450,000 450,000
< 450,000
01 A& HI 450,000 450,000
O&F=Al AtSI A TH
SEXNJAHE) 450,000
450,000
SERH 245t 11,000 300
SERY 243 XA 11,000 300
201 LBH2Z| 5,000 0
01 At 2t 2l 5,000 0
O033%89 g4 5,000
307 21201 A 6,000 300
02 LB AAFEX 6,000 300
O3EERY =it 6,000
A2 HZRHOIIBH 2= 5,774,400 550,700
= 1,601,000
s 2,027,250
< 663,635
Al 1,482,515
ASIHBHER 4 5,774,400 A 550,700
= 1,601,000
s 2,027,250
< 663,635
Al 1,482,515
0IS01g 84 50,000 0
s 25,000
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
AN BE2 X (A EI|H) 370,000 515,000 A 145,000
Fag 277,500
& 27,750
Al 64,750
307 2Iz2to| & 370,000 515,000 A 145,000
g 277,500
= 27,750
Al 64,750
02 QI AAIE E X 370,000 515,000 A 145,000
OAMSEIIS AISIEE 2 370,000
Fag 277,500
=} 27,750
Al 64,750
MIEAMIYE IS 5,000 5,000 0
201 LBt Y| 2,000 2,000 0
03 Al HH| 2,000 2,000 0
OMS M A HLE 1,000, 000& *x23| 2,000
301 et M= 3,000 3,000 0
09 #HAIAHI XIS 2 3,000 3,000 0
OFYE MEZHZX Ad X 300,000 x10&! 3,000
A EAM HE SADF XS 2,678,000 2,224,500 453,500
= 1,405,000
& 381,900
Al 891,100
307 2Iz2t0| & 2,678,000 2,224,500 453,500
= 1,405,000
& 381,900
Al 891,100
02 QI AAIE E X 2,678,000 2,224,500 453,500
OAMIIEAH HYE A X (o1AHH]) 2,234,400
= 1,245,000
= 296,820
Al 692,580
OAMBIEAM HE A XA (QIMEE) 320,000
= 160,000
& 48,000
Al 112,000
OAMIIEAH HEYE A X (nsEH|) 123,600
=} 37,080
Al 86,520
M=H AL EH KA 7,000 7,000 0
201 2Et24Hy| 7,000 7,000 0
02 B32ZH| 7,000 7,000 0
OX=&UW A&HH SA 2 7,000
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A2l & O X2 ot
o=
A& X2

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 221,676
Al 332,514
05 RIZtE = 5,541,900 5,247,271 294,629
OXNEXtedye S0A X 5,541,900
= 4,987,710
< 221,676
Al 332,514
AE=xIs si2el 2,300 2,300 0
201 Let2d] 2,300 2,300 0
01 At 22l 2,300 2,300 0
OXE=XIIz sAt2el 2208 KRB 2,300
NATEHE SANL SE€E 40,680 38,520 2,160
< 12,204
Al 28,476
307 gl2tol & 40,680 38,520 2,160
< 12,204
Al 28,476
11 ALS S XAEE = 40,680 38,520 2,160
OXNSTEUEH SAXL SE=Y 40,680
< 12,204
Al 28,476
NETtady 29X 755,321 741,188 14,133
= 513,438
Al 241,883
307 glz2tol & 755,321 741,188 14,133
= 513,438
Al 241,883
05 RIZt2IE = 755,321 741,188 14,133
OXHAXgdy 2EXA 755,321
= 513,438
Al 241,883
KNAXEEEH Atedl 22| A el 24l 57,978 57,208 770
= 40,585
Al 17,393
307 21201 A 57,978 57,208 770
= 40,585
Al 17,393
05 BIZERI & 3 57,978 57,208 770
OXNEZZEHX Atdl2tel 2 XA 57,978
= 40,585
Al 17,393
M2 XA SEXIE K& 7,800 7,800 0
307 glz2tol & 7,800 7,800 0
11T M SRASE EX 7,800 7,800 0
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307 21201 & 202,379 411,204 A 208,825
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Al 20,238
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05 2zt & =2 202,379 411,204 A 208,825

OIS LINSSE 202,379
182,141
Al 20,238

H

22 s8Js =24 SN (FEMSAR) 347,287 153,200 194,087




SN AT THRI R T
=R ESIEIEE

ool UHEXE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 312,558
Al 34,729
307 glz2tol & 347,287 163,200 194,087
= 312,558
Al 34,729
05 RIZHRIEt 3 347,287 153,200 194,087
(OF=R=DIE=W [ 347,287
= 312,558
Al 34,729
A=t &8 21,720,000 59,000 21,661,000
= 3,600,000
< 450,000
Al 17,670,000
NEstl & 2 2 21,720,000 59,000 21,661,000
= 3,600,000
< 450,000
Al 17,670,000
NostE ¢ 2 22 21,720,000 59,000 21,661,000
= 3,600,000
< 450,000
Al 17,670,000
201 L2l 980,000 59,000 921,000
01 At 22l 980,000 59,000 921,000
O AEHEH & % 29 980,000
301 LB AF 20,740,000 0 20,740,000
= 3,600,000
< 450,000
Al 16,690,000
12 JIEtE& = 20,740,000 0 20,740,000
OXFAEHZH & 2 2 20,740,000
= 3,600,000
< 450,000
Al 16,690,000
HY2H B (A MO X2 D) 227,087 303,868 AT6,781
Ol 2| (ALE A O AT 1) 159,483 247,496 A 88,013
ol 2HH| (A3 & OH X2 1) 159,483 247,496 A 88,013
101 @14 Hl 159,483 247,496 A 88,013
01 2= 159,483 247,496 A 88,013
OAZAZESE 159,483
Jleddl (Absl S THXI& 1) 67,604 56,372 11,232
Jl2ddl (Atsl S THXI& ) 67,604 56,372 11,232
201 Zet24E] 30,824 21,872 8,952
01 At 2t 2l 30,824 21,872 8,952




A AR S THX 2
H: HHE2IAH (ASAHXRE
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SN FE - EA(SA) - MRAY - BES il Bl RE2

OBt~ 16,000
O= &l 13,824
o223+ 1,000

202 04l 29,880 28,200 1,680

01 = LH o4 1l 29,880 28,200 1,680
OJleg =80l 29,880

203 YR =2t 6,900 6,300 600

01 J/22E 2= 3,300 3,300 0
OAS| A CH I & EHE 3,300

04 FN2ELRZ=TH 3,600 3,000 600
FA2EHRFLHI 300,000 122 3,600

MEES (AL HCHXI& 1) 400,000 1,204,000 A 804,000

LI HH XIS (AFS A O X&) 400,000 1,204,000 A 804,000

ANSIHZHELS JI2 X2 (A3 400,000 400,000 0

702 JISEES 400,000 400,000 0

(RPIE=RSE-—3= 400,000 400,000 0
OAHFH 43t | 400,000




